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ELEE 2300 EXAM | Feb. 20, 1999
DO NOT OPEN UNTIL TOLD TO BEGIN

INSTRUCTIONS:
1. Print and sign your name, and write your student number at the top of this page.

2. This exam is open book and open notes. Any type of calculator or computer may be used. No
communication device of any kind is permitted.

3. To receive full credit for a problem you must solve the problem correctly and also do the
following:

a) Show all work necessary to solve the problem.

b) Clearly indicate your answer (for example, by enclosing it in a box).

¢) Define all variables and parameters, and label them on the circuit diagram.
d) Show all units explicitly, in intermediate steps as well as final solutions.
e) Use the proper notation for all variables.

4. Units within the exam are given within square brackets.
S. Do not use red ink or red pencil.
6. You will have 90 minutes to complete the exam

1. 20 /20

2. | S /15

3. A0 /20

4. AO /20

5. S /25
|00
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Three circuits are connected together as shown below.

v. = 12 [V] 2, = -2 [A]

a) Find the power flowing from B to A.

b) Find the power flowing from B to C
c¢) Find the power absorbed by B.

d) Find the charge that leaves the top left terminal of B in a time interval of 5 seconds.
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0\) The Power flow:nj from B #o A |5 the Came
f%ing as tThe powes absorbed by A. (A 1S ia Active amu.)

Pobeyn = =L,V = (-30a2)6an) =[a76a3 |

b) Simil arly, Cig ia active Conveation, so

Pabs,c =-L,Vy = - (-20a)) (1)) =[2 Y03
<) Pabs,e = - (pap t Pobrc ) =|303)

0\) The curreat )Ca\linb +he 'l'oF Jett terminal of BB

1S -L.' . So the charge leaving in §/[s) is
5

Q5O as = 3o = -t5-0 [
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